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CHAPTER TEST - 8

BIO-BOTANY
Std / Dept : 12
Time Allowed : 40 MIN Max. Marks : 20
MULTIPLE CHOICE QUESTION 5*1=5

1. One of the chief reasons among the following for the depletion in the number of
species making endangered is
a ) over hunting and poaching b ) green house effect
¢ ) competition and predation d ) habitat’destruction
2. One green house gas contributes 20% of total global warming and another
contributes 60%. These are respectively identified as
a) N2O and CO; b ).CFCs and N,O
¢ ) CHy and COq d ) CH4 and CFCS
3. Find the wrongly matched pair.
a ) Endemism - Species confined to a region and not found anywhere else.
b ) Hotspots - Western ghats
¢ ) Ex%situ Conservation »Zoological parks
d )Sacred groves - Saintri hills of Rajasthan
4. The unit for measuring ozone thickness
a)Joule b )Kilos
¢ ) Dobson d ) Watt
5— With respect to Eichhornia.
Statement A: It drains off exygen from water and is seen growing in standing
water.
Statemient B: It is an indigenous species of our country.
a ) Statement A is correct and Statement B is wrong.
b”) Both Statements A and B are correct.
¢ )-Statement A is cerrect and Statement'B is wrong.
d ) Both statements A and B are wrong.
VERY SHORT ANSWER 2%2=4
6. What is ozone hole?
7. Expand CCS:
SHORT-ANSWER 2*¥3=6
8. Which one gas is most abundant|out of the four commonest greenhouse gases?
Discuss the effect of'this gas on the growth of plants?
9. How'do forests help in maintaining the climate?
LONG'ANSWER 1*5=5

10. Explain-afforestation with ease studies.
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